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3.3StochasticDifferentialEquationsun

Usual first order ordinarydifferential equation CODE
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Astochastic differentialequation SDE canbewrittendown in integral form
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Today Examples numericalsolutionsandtheir error nexttime howtofindsolutions
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Evenwithout knowingthe solution wecan figureout its expectationvalue
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Next numerical solutions

UsualODES dI flxttl.tl can besolved numerically withEuler method
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The sameworks for SDEs it is thencalled Euler Maruyamamethod
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For the error thereare twooftenused definitions

strong error II lati Xn Cs At a strongorderof convergence

The relevancefor individual paths comes fromMarkov's inequality
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Soapplying Markov to thestrong error we e.g get
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Strong error alsotells us about error forindividualpaths



weak error I II XH II t CwAt B weakorderof convergence
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Butweak error doesnot necessarily tell us somethingabout individualpaths
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